| > restart

> Ecuacion = diff (f(x, ), x82) + diff ( f(x, =diff (f(x,),)$3);

62 o
Ecuacion = — f(x,y) + —— f(x,y) = —= f(x, €))
] " S(x ) o ar y) o S(xp)
> Solucion = pdsolve( Ecuacion)
Solucion =f(x,y)= C3+ C4( C3+ Cix+ C2y) )
CI(C3+ Clx+ C2y) ( C2+ _CI)
3
|+ . C5e -2
> FEcuacion2 = lhs(Ecuacion) =diff (f(x,y),y);
i i 0
Ecuacion2 = — f(x,y) + —(— yv)=—f(xy) (&)
] " S(xp) o ar » Sxy
| > with(PDEtools) :
> Solucion2 := build( pdsolve( Ecuacion2));
cy _ny - (x—y)
1+ ¢ 1+ ¢ 1+ ¢
i Solucion2:=f(x,y)= C2 Cle 'e 'e ! @)
| > restart
>
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L:=4 )
> f(x) ==-4-Heaviside(x + 3) + 2-Heaviside(x +2) + 2-Heaviside(x + 1) + 2-Heaviside(x
— 1) + 2-Heaviside(x —2) —4-Heaviside(x — 3); plot( f(x),x=-L..L);
f(x) := -4 Heaviside(x + 3) + 2 Heaviside(x +2) + 2 Heaviside(x + 1) + 2 Heaviside(x
— 1) + 2 Heaviside(x —2) — 4 Heaviside(x — 3)




> b = (%).int(f(x)-sin( ”'lzl'x ),x=—L..L);
3 1 1
8005(2 nn) 4005(? nn) 4cos(znn)
b, := - + + (6)
nmw nmw nm

> STF = Sum(bn-sin(% ), n=1 ..inﬁnity)
4 cos( L n n)

i[_Scos(%nn) ) 4cos(%nn)

+ + J sin(i nnx) @)
nm nT nm 4

n-Pix ),n=1..500) :

STF =

n=1

> STF500 = sum(bn-sin(

[ > plot(STFyyy, x=-L..L);




(> plot([ /(x), STFyg0}x=0.9..1.1)
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